ot glEIF{fjf&%”j}F{ij&JFﬁ#%H}[ rp@@éﬁ'[ﬁi]}d

CRFEA D i i o B b=
i e I [y CFFF - F B DR
REREIT 153 RRET 153

ERMIANN {1t gk il FE Tk ETEl
FISI 2 2.6 14.2 1.1 -6.6
=q: -1.1 -6.2 1.4 -20.5
F 0.8 5.3 1.8 -11.8
f 0.2 -14.5 2.8 -16.5
71 31 49.8 3.1 -3.8
HE | FIpusYy 1.2 8.9 1.1 -12.0

FER T PR 6T (2 I



KT PR T R

D eEA DA I L e I
A IS N 13 A A = ISR o 173
RBENT 155 5k ET 153
= Rl Ry i Fg;fﬁ ETE! b iﬁfﬁ ETE!
Fl 1 2 0.0 12.3 0.6 95
FIA -0.3 15.5 0.5 -19.8
«F’ﬂﬁ 1.7 53.2 0.7 -7.8
P 15.0 20.8 -1.3 -11.6
F 2.0 16.8 -0.2 4.4
| sl 1.8 18.0 -0.1 -9.4

r%%” : W%iﬁf,ﬂ FUZEL TETfgE e ol = for sty
'0.0' [UEJER DA 0.05% o



